DOCKET NO. 20250137-SU FILED 11/10/2025

DOCUMENT NO. 15013-2025



FPSC - COMMISSION CLERK

Attorneys and Counselors at Law
123 South Calhoun Street P.O. Box 391 32302 Tallahassee, FL 32301

> P: (850) 224-9115 F: (850) 222-7560

ausley.com

November 10, 2025

VIA: ELECTRONIC FILING

Mr. Adam J. Teitzman Commission Clerk Florida Public Service Commission 2540 Shumard Oak Boulevard Tallahassee, FL 32399-0850

> FPSC Docket No. 2025_____ Application for Limited Proceeding Re:

Dear Mr. Teitzman:

Attached for filing in the above docket on behalf of Sunshine Water Services Company is the Limited Proceeding to Reflect the Mid-County Wastewater Treatment Facility in Base Rates.

The testimony and exhibits of Sunshine Water Services Company's supporting witnesses are being filed contemporaneously under separate, individual cover letter.

Thank you for your assistance in connection with this matter.

Sincerely,

Virginia L Ponder

VLP/dh Attachments

BEFORE THE FLORIDA PUBLIC SERVICE COMMISSION

In re: Application by Sunshine Water Services Company for Limited Proceeding to Reflect the Mid-County Wastewater Treatment Facility in Base Rates

DOCKET NO. 20250___-WS DATED: November 10, 2025

APPLICATION FOR LIMITED PROCEEDING

Pursuant to Section 367.0822, Florida Statutes, and Rule 25-30.445, Florida Administrative Code, Applicant, Sunshine Water Services Company ("SWS" or the "Company"), files this Application for a limited proceeding to increase its base rates and charges by \$4,546,891 annually effective with the first billing cycle in April 2026 to reflect cost recovery for the upgrade of the Mid-County Wastewater Treatment Facility in Pinellas County, Florida, and states:

Introduction

1. The name of the utility and its principal place of business are:

Sunshine Water Services Company 200 Weathersfield Avenue Altamonte Springs, FL 32714-4099

- 2. The Company is a Florida corporation originally incorporated in Florida on October 15, 1975, under the name of Utilities Inc. of Florida. Its corporate name was changed to Sunshine Water Services Company effective January 1, 2022. Nexus Regulated Utilities, LLC owns 100 percent of SWS. Its address is 500 West Monroe Street, Suite 3600, Chicago, IL 60661.
- 3. SWS is a Class A water and wastewater utility certificated by the Florida Public Service Commission ("Commission") and is regulated under Chapter 367, Florida Statutes. The Company provides potable water and wastewater services to over 35,000 and 30,000 customers, respectively, in 10 of Florida's 67 counties.

1

- 4. Commission Order No. PSC-2025-0196-FOF-WS, issued on June 6, 2025, in Docket No. 20240068-WS (Application for Increase in Water and Wastewater Rates), is the most recent Commission order in which the Company's rates were considered.
- 5. The address within the service area where the Application is available for customer inspection during the time the rate application is pending is: 200 Weathersfield Avenue, Altamonte Springs, FL 32714-4099.
- 6. A signed statement of Seán Twomey, the President of SWS, attesting that the Company will comply with the noticing requirements in Rule 25-30.446, Florida Administrative Code, is attached hereto as **Exhibit A**.
- 7. In accordance with Rules 25-30.020(2)(g) and 25-30.445(3), Florida Administrative Code, a filing fee of \$2,250 is being filed contemporaneously with this Application.

Minimum Filing Requirements

- 8. SWS makes this Application for Limited Proceeding to increase its base rates and charges by \$4,548,775 annually to reflect cost recovery in the amount of \$27,975,848 for the upgrade of its Mid-County Wastewater Treatment Facility ("WWTP") in Pinellas County, Florida (the "Mid-County WWTP Project" or the "Project") that improves the ability of SWS to provide safe, reliable, and environmentally sound wastewater treatment services to its customers in accordance with applicable rules.
- 9. The Company initially included the Mid-County WWTP Project in its test year letter submitted on April 19, 2024, in Docket No. 20240068-WS. However, the Company later withdrew it from consideration in the rate case filing due to the Project's projected in-service date.
- 10. The Mid-County facility treats wastewater from a service area consisting of primarily commercial, single family residential, and multi-family residential properties. Before the

Project began, the Mid-County WWTP was an advanced wastewater treatment facility with high level disinfection. It is permitted for an annual average daily flow of 0.90 million gallons per day.

- In 2018, the Florida Department of Environmental Protection ("DEP") determined that the Mid-County WWTP was no longer meeting its permit requirements based on discharge monitoring reports. The Company and DEP entered a consent order requiring the Company to retain a professional engineer to complete certain reports including an in-depth evaluation of the facility. The Company submitted the required deliverables, and DEP issued an in-kind Completion and Case Closure on July 20, 2019.
- 12. In November 2019, the Company engaged Kimley Horn and Associates ("KH") to help the Company determine the next steps for facility improvement. KH completed an Engineering Analysis that included recommendations for the Company to (1) design and construct a new master lift station as soon as possible; and (2) upgrade the facility's primary method of treatment from a conventional extended aeration system to a Membrane Biological Reactor ("MBR") system.
- 13. In July 2021, the Company entered a consent order with DEP regarding the unauthorized discharges of 1.143,600 gallons of partially treated wastewater that bypassed the denitrification filters on September 11, 2020, November 12, 2020, and July 6, 2021. On June 15, 2022, DEP acknowledged that the Company completed the requirements and closed out the consent order.
- 14. Construction on the Project began on or about March 20, 2023. This project involved retrofitting the treatment plant with the MBR treatment system to supplement the biological treatment process and increase capacity and reliability. The company also rehabilitated the existing north treatment train concrete tanks and the chlorine contract chamber. The Mid-

County WWTP is currently treating 100 percent of the flows through the new MBR system. The company expects to complete the remaining tank rehabilitation and site clean-up and close out the Project in April 2026.

- 15. The Project will provide the customers of SWS served by the plant the following meaningful benefits: (1) treat influent to permitted nutrient removal levels; (2) address the existing process and operational deficiencies, (3) provide overall plant reliability and redundancy, (4) increase hydraulic capacity, and (5) provide a consistent and reliable service.
- 16. This Application for a Limited Proceeding is not being requested to recover costs required by governmental or regulatory order.
- 17. **Exhibit B** to this Application includes the following information required by Rule 25-30.445:
- a. A schedule providing the specific rate base components for which the utility seeks recovery and supporting detail (Schedule 4 (Paragraph (4)(c) of the Rule));
- b. A schedule of accumulated depreciation and depreciation expense by NARUC account. (Schedule 9 (Paragraph (4)(d) of the Rule)).
- c. The calculation of the weighted average cost of capital used to calculate the revenue increase requested in this Application (Schedule 11 (Paragraph (4)(e) of the Rule))
- d. The calculation of the annual revenue increase requested in this Application (Schedule 3 (Paragraph (4)(i) of the Rule));
- e. The annualized revenues for the most recent 12-month period and a schedule reflecting this calculation by customer class and meter size (Schedule 12 (Paragraph (4)(j) of the Rule));

- f. A schedule of current and proposed rates for all classes of customers (Schedule 1 (Paragraph (4)(k) of the Rule)).
- g. A schedule for the most recent 12-month period showing that, without any increased rates, the utility will earn below its authorized rate of return. (Schedule 4 ((Paragraph (4)(1) of the Rule)
- 18. The schedules identified above in paragraph 17(a) through (g) are also included in the exhibit to the testimony of Dante M. DeStefano, Exhibit DMD-1, as schedule numbers 4, 9, 11, 3, 12, 1, and 4, respectively.
- 19. This Application for a Limited Proceeding is not being requested to recover costs required by governmental or regulatory order.
- 20. This Application does not include a request for the recovery of increased operating expenses, though there are identified net cost savings associated with the project.
- 21. The Company is not requesting a change in the current rate structure via this Application.
- 22. The Application does not include revised tariff sheets in accordance with Rule 25-30.455(4)(n).
- 23. The Company is not providing a copy of all customer complaints regarding DEP secondary water quality standards received during the past five years nor a copy of the utility's most recent secondary water quality standards test results as described in Rule 25-30.445(4)(o) because this Application is made for a single wastewater project that only impacts the Company's wastewater customers' rates and therefore this information is inapplicable.
- 24. In accordance with Rule 25-30.445(7), the Company states that, due to the lack of operating expense increase requested and the increase in rate base requested in this Application, it

does not identify rate base decline or expense recovery in this Application that will be offset by future customer growth associated with the Mid-County system within one year of the date new rates are implemented.

Other

- 25. This Application represents an original pleading. The Company is not responding to any proposed agency action.
- 26. Contemporaneous with the filing of this Application, SWS has filed prepared direct testimony and exhibits for witnesses testifying on behalf of the Company.
- 27. The ultimate facts that entitle SWS to the relief requested in this Application are set forth in paragraphs 1 through 24, above.
- 28. The name and address of the persons authorized to receive notices and communications in respect to this application:

J. Jeffry Wahlen

jwahlen@ausley.com

Virginia Ponder

vponder@ausley.com

Ausley McMullen

123 S. Calhoun Street.

Tallahassee, FL 32301-1517

(850) 224-9115

Sean Twomey@nexuswg.com

Jacquee Sillitoe

Jacquee.Sillitoe@nexuswg.com

Sunshine Water Services Company

200 Weathersfield Avenue

Altamonte Springs, FL 32714-4099

- 29. To the best of the Company's knowledge, this Application initiates a proceeding that does not involve disputed issues of material facts.
- 30. SWS is entitled to the relief requested pursuant to Chapters 367 and 120, Florida Statutes.

WHEREFORE, SWS respectfully requests that the Commission enter a final order:

A. Granting an increase in wastewater rates consistent with the attached Exhibits for the recovery of costs associated with the Mid-County WWTP Project.

B. Granting such other and further relief as the Commission may find to be reasonable and proper pursuant to its authority under Chapter 367, Florida Statutes.

DATED this 10th day of November, 2025.

Respectfully submitted,

J. JEFFRY WAHLEN

jwahlen@ausley.com

VIRGINIA PONDER

vponder@ausley.com

Ausley McMullen

Post Office Box 391

Tallahassee, Florida 32302

(850) 224-9115

ATTORNEYS FOR SUNSHINE WATER SERVICES COMPANY

EXHIBIT A

AFFIDAVIT PURSUANT TO RULE 25-30.445(1)(e), FLORIDA ADMINIATRATIVE CODE

STATE OF FLORIDA COUNTY OF

BEFORE ME, personally appeared Sean Twomey, who is the President of Sunshine Water Services Company and who states that Sunshine Water Services Company will comply with the noticing requirements of Rule 25-30.446, Florida Administrative Code.

SEAN TWOMEY

Sworn to and subscribed before me this _____ day of _______ day of ______ as identification.

JACQUELINE MARIE. SILLITOE
Notary Public - State of Flurida
Commission # HH 318029
My Comm. Expires Oct 2, 2026
Bonded through National Notary Assn.

NOTARY PUBLIC
Printed Name: QQUEIN SILLIA
My Commission Expires: QQQQQ

Exhibit E

Schedule 1

SUNSHINE WATER SERVICES COMPANY WASTEWATER LIMITED PROCEEDING RATE BASE AND RATE OF RETURN AFTER LIMITED PROCEEDING RATE INCREASE

		-				
W	as	te	w	a	te	r

Wastewa	iter					
		(a)	(b)	(c)	(d)	
					Balance with	<u>Reference</u>
		Annual Report	Adjustments to	Limited Proceeding	<u>Adjustments</u>	
<u>Line No.</u>	<u>Description</u>	12/31/24 Balance	2024 Balance (1)	<u>Considerations</u>	(columns a + b + c)	
1	Utility Plant in Service	189,268,161	14,900,142	\$27,975,848	\$232,144,151	(A), (F)
2	Land	-	(27,486)	-	(27,486)	(F)
3	Retirements	-	(1,556,142)	(1,957,957)	(1,957,957)	(B), (F)
4	Subtotal: Utility Plant in Service	\$189,268,161	\$13,316,514	\$26,017,891	\$230,158,708	
5	Non-used and Useful Plant	(\$928,928)	\$928,928	\$0	\$0	(F)
6	Accumulated Depreciation	(\$80,436,455)	1,094,759	603,589	(78,738,108)	
7	Contributions in Aid of Construction (CIAC)	(42,497,005)	(9,345)	1,792,926	(40,713,424)	(D), (F)
8	Advances for Construction	-	-	-	-	
9	Accumulated Amortization of CIAC	31,352,500	234	(1,792,926)	29,559,808	(E), (F)
10	Working Capital Allowance	878,860	-	-	878,860	
11	Rate Base	\$97,637,133	\$15,331,090	\$26,621,480	\$141,145,844	lines (4) through (11)
12	Operating Income	\$4,257,638	\$3,910,601	\$2,304,743	\$10,472,982	Schedule 5
13	Rate of Return	4.36%			7.42%	line (12) / line (11)
14	Rate of Return Without Limited Proceeding				5.79%	line (12), col (a) + (b) / line (11)

Notes:

(1) Adjustments to 2024 Balance reflect the difference between 2024 Annual Report balances and Final Order No. PSC-2025-0196-FOF-WS, Schedule No. 1-B

14	Adjustments:		
15	(A) Utility Plant in Service		
16	Increase in Plant in Service for Mid-County WWTP	\$27,975,848	Schedule 6
17			_
18	Total	\$27,975,848	
19	(B) Retirements		
20	Retired Plant in Service for Mid-County WWTP	(1,957,957)	Schedule 7
21			
22	Total	(\$1,957,957)	-
23	(C) Accumulated Depreciation		
24	Annual Accumulated Depreciation for Mid-County WWTP	(1 354 368)	Schedule 9
25	Change in Accumulated Depreciation for Retirements for Mid-County WWTP		Schedule 7
26	Total	603,589	- Scriedaic 7
20	15.01	003,303	
27	(D) CIAC		
28	Retired CIAC for Mid-County WWTP	\$ 1,792,926	Schedule 7
29	Total	\$1,792,926	-
30	(E) Accumulated Amortization of CIAC		
31	Retired CIAC for Mid-County WWTP	(1.792.926)	Schedule 7
32	Total	(\$1,792,926)	
		(, = /- = -/- = - /	
33	(F) Adjustments to reflect balances/activity included in Rate Case Order No. PSC-2025-0196-FOF-WS		
34	Plant In Service, post-2024	14,900,142	Schedule 8
35	Retirements, post-2024	(1,556,142)	Schedule 8
36	Land, Audit Finding #7	(27,486)	Schedule 8
37	Non-used and Useful Plant, recalculated	928,928	Schedule 8
38	Accumulated Depreciation, for Plant In-Service additions, less Retirements	1,094,759	Schedule 8
39	Contributions in Aid of Construction (CIAC), Audit Finding #4	(9,345)	Schedule 8
40	Accumulated Amortization of CIAC, Audit Finding #4	234	Schedule 8
41	Total	15,331,090	-

SUNSHINE WATER SERVICES COMPANY

Schedule No. 2

WASTEWATER LIMITED PROCEEDING SCHEDULE OF ACCUMULATED DEPRECIATION/AMORTIZATION SCHEDULE OF DEPRECIATION/AMORTIZATION EXPENSE

			(a)	(b)	(c)	(d)	(e)
			Completed/Estimated				<u>Accumulated</u>
<u>Line No.</u>	NARUC A/C	<u>Description</u>	Completion Date	<u>UPIS</u>	Depreciation Rate	Annual Expense	<u>Depreciation</u>
1	354.4	Structures & Improvements	4/30/2026	\$1,925,915	3.13%	\$60,281	(\$60,281)
2	355.4	Power Generation Equipment	4/30/2026	8,257,540	5.00%	412,877	(412,877)
3	380.4	Treatment & Disposal Equipment	4/30/2026	10,979,292	5.56%	609,961	(609,961)
4	354.4	Structures & Improvements	4/30/2026	4,421,940	3.13%	138,407	(138,407)
5	380.4	Treatment & Disposal Equipment	4/30/2026	1,413,620	5.56%	78,534	(78,534)
6	380.4	Treatment & Disposal Equipment	4/30/2026	977,542	5.56%	54,308	(54,308)
7		Total	_ _	\$27,975,848	- -	\$1,354,368	(\$1,354,368)

SUNSHINE WATER SERVICES COMPANY WASTEWATER LIMITED PROCEEDING SCHEDULE OF CAPITAL STRUCTURE AND WEIGHTED COST OF CAPITAL

		(a)	(b)	(c)	(d)	(e)	(f)
			<u>Reconciling</u>				
<u>Line No.</u>	<u>Description</u>	<u>12/31/2024</u>	<u>Adjustments</u>	Capital Structure (3)	% of Total	Cost Rate	Weighted Cost
1	(1) Long-Term Debt - Fixed	\$208,958,188	-\$178,785,735	\$30,172,453	21.38%	5.23%	1.12%
2	(1) Long-Term Debt - Variable	\$136,768,793	-\$117,020,105	\$19,748,688	13.99%	6.47%	0.91%
3	(1) Short-Term Debt	\$149,639,274	-\$128,032,157	\$21,607,117	15.31%	6.73%	1.03%
4	(2) Customer Deposits	\$337,537	-\$288,798	\$48,739	0.03%	2.00%	0.00%
5	(1) Common Equity	\$471,246,055	-\$403,200,626	\$68,045,429	48.21%	10.05%	4.85%
6	(2) Deferred Tax Liabilities	\$5,863,252	-\$5,016,630	\$846,622	0.60%	0.00%	0.00%
7	(2) Tax Credits - Zero Cost	\$59,215	-\$50,665	\$8,550	0.01%	0.00%	0.00%
8	(2) Excess Deferred Tax Liability	\$4,627,919	-\$3,959,672	\$668,247	0.47%	0.00%	0.00%
9	Capitalization	\$977,500,233	(\$536,300,077)	\$141,145,844	100.00%	- -	7.90%

Notes:

- (1) The Common Equity, Long-Term Debt, and Short-Term Debt amounts used in Schedule B are derived from the Common Equity, Long-Term Debt, and Short-Term Debt of Nexus Regulated Utilities, LLC for the 12 months ended 12/31/24.
- (2) The Customer Deposits, Tax Credits, and Deferred Income Taxes amounts used in Schedule B are derived specifically from the Customer Deposits, Tax Credits, and Deferred Income Taxes of Sunshine Water Services Company for the 12 months ended 12/31/24.
- (3) Amounts reflect pro-ration of capital structure components consistent with most recent Sunshine Water Services Company Final Rate Order, No. PSC-2025-0196-FOF-WS.

Schedule No. 4

SUNSHINE WATER SERVICES COMPANY WASTEWATER LIMITED PROCEEDING SCHEDULE OF RATE BASE INCREASE COMPONENTS, RATE OF RETURN, AND REVENUE REQUIREMENT

<u>Line No.</u>	Increase in Rate Base and Rate of Return	<u>Cost</u>	<u>Reference</u>
1	Utility Plant in Service (UPIS)	\$27,975,848	Schedule 4
2	Retirements	(1,957,957)	Schedule 4
3	Accumulated Depreciation	603,589	Schedule 4
4	Contributions in Aid of Construction (CIAC)	1,792,926	Schedule 4
5	Accumulated Amortization of CIAC	(1,792,926)	Schedule 4
6	Cash Working Capital		Schedule 4
7	Total Increase in Rate Base	\$26,621,480	lines (1) through (6)
8	Weighted Cost of Capital	7.90%	Schedule 11
9	Return Required	\$2,102,787	line (7) * line (8)
10	Increase in Depreciation Expenses Due to UPIS Increase	\$1,354,368	Schedule 5
11	Decrease in Depreciation Expense Due to Retirements	100,978	Schedule 5
12	Increase in CIAC Amortization	59,290	Schedule 5
13	Decrease in Operating and Amortization Expense	, , ,	Schedule 5
14	Increase in Taxes Other Than Income Taxes	320,188	Schedule 10
15	Total Increase in Operating Expenses	\$1,717,157	
16	Total Taxable Income	\$2,102,787	line (9)
17	Multiply by State Income Tax (5.5%)	115,653	
18	Total Federal Taxable Income	\$1,987,134	line (16) - line (17)
19	Multiply by Federal Income Tax (21%)	\$417,298	
20	Total Revenue Increase Before RAF	\$4,352,895	line (9) + line (15) + line (17) + line (19)
21	Multiply by RAF (4.5%)	\$195,880	
22	Total Revenue Increase Requested	\$4,548,775	line (20) + line (21)

SUNSHINE WATER SERVICES COMPANY WASTEWATER LIMITED PROCEEDING SCHEDULE OF ANNUALIZED REVENUE

Schedule No. 5

Wastewa	ater	(a)	(b)	(c)
		AL		Annualized
<u>Line No.</u> 1	<u>Wastewater Account Description and Service Type</u> General, Residential and Multi-Family Service BFC	No. of Bills/Gallons	Current Rates	Revenues
2	5/8" x 3/4"	285,357	\$40.59	\$11,582,641
3	3/4"	283,337	\$60.89	\$1,400
4	1"	1,455	\$101.48	\$147,653
5	1 1/2"	1,723	\$202.95	\$349,683
6	2"	1,875	\$324.72	\$608,850
7	3"	380	\$649.44	\$246,787
8	4"	218	\$1,014.75	\$221,216
9	6"	38	\$2,029.50	\$77,121
10	8"	47	\$3,247.20	\$152,618
11	10"	62	\$5,885.55	\$364,904
12	General and Multi-Family Service Gallonage Charge per 1,000 Gallons	368,950	\$7.79	\$2,874,121
13	Residential Charge per 1,000 gallons			
14	8,000 gallons cap	1,329,804	\$6.48	\$8,617,130
15	General, Residential and Multi-Family Service BFC - Bi Monthly (Mid County and Tierra Verde)			
16	5/8" x 3/4"	372	\$81.38	\$30,273
17	3/4"	-	\$122.07	\$0
18	1"	531	\$203.45	\$108,032
19	1 1/2"	380	\$406.90	\$154,622
20	2"	409	\$651.04	\$266,275
21	3"	-	\$1,302.08	\$0
22	4"	12	\$2,034.50	\$24,414
23	6"	49	\$4,069.00	\$199,381
24	8"	13	\$6,510.40	\$84,635
25	10"	-	\$11,800.10	\$0
26	Residential Flat Rate BFC - Bi Monthly (Mid County and Tierra Verde)	12,414	\$81.22	\$1,008,265
27	General and Multi-Family Service Gallonage Charge per 1,000 Gallons (Mid County and Tierra Verde)	239,914	\$7.79	\$1,868,930
28	Residential Charge per 1,000 gallons (Mid County and Tierra Verde)			
29	16,000 gallons cap	104,949	\$6.48	\$680,070
30	General, Residential and Multi-Family Service Flat Rate	32,761	\$73.19	\$2,397,778
31	General, Residential and Multi-Family Service Flat Rate - Bi Monthly (Mid County and Tierra Verde)	5,807	\$146.07	\$848,228
32	General Service Flat Rate - Cross Creek	12	\$66,236.95	\$794,843
33	Bulk Service - DeAnn Estates	11	\$2,354.22	\$25,896
34	Gallonage Charge per 1,000 Gallons - DeAnn Estates	1,496	\$6.48	\$9,694
35	Residential Reuse BFC	10,859	\$11.84	\$128,571
36	Gallonage Charge per 1,000 Gallons - Reuse	135,971	\$2.23	\$303,215
37	Total Annualized Revenue			\$ 34,177,247

SUNSHINE WATER SERVICES COMPANY WASTEWATER LIMITED PROCEEDING SCHEDULE OF PRESENT AND PROPOSED RATES

Schedule No. 6

Wastewa	iter			
<u>Line No.</u>	Account Description and Service Type	Present Rates	<u>Proposed</u> <u>Increase</u>	Proposed Rates
1	General, Residential and Multi-Family Service BFC			
2	5/8" x 3/4"	\$40.59	\$5.40	\$45.99
3	3/4"	\$60.89	\$8.10	\$68.99
4	1"	\$101.48	\$13.51	\$114.99
5	1 1/2"	\$202.95	\$27.01	\$229.96
6	2"	\$324.72	\$43.22	\$367.94
7	3"	\$649.44	\$86.44	\$735.88
8	4"	\$1,014.75	\$135.06	\$1,149.81
9	6"	\$2,029.50	\$270.11	\$2,299.61
10	8"	\$3,247.20	\$432.18	\$3,679.38
11	10"	\$5,885.55	\$783.33	\$6,668.88
12	General and Multi-Family Service Gallonage Charge per 1,000 Gallons	\$7.79	\$1.04	\$8.83
13	Residential Charge per 1,000 gallons			
14	8,000 gallons cap	\$6.48	\$0.86	\$7.34
15	General, Residential and Multi-Family Service BFC - Bi Monthly (Mid County and Tierra Verde)			
16	5/8" x 3/4"	\$81.38	\$10.83	\$92.21
17	3/4"	\$122.07	\$16.25	\$138.32
18	1"	\$203.45	\$27.08	\$230.53
19	1 1/2"	\$406.90	\$54.16	\$461.06
20	2"	\$651.04	\$86.65	\$737.69
21	3"	\$1,302.08	\$173.30	\$1,475.38
22	4"	\$2,034.50	\$270.78	\$2,305.28
23	6"	\$4,069.00	\$541.56	\$4,610.56
24	8"	\$6,510.40	\$866.49	\$7,376.89
25	10"	\$11,800.10	\$1,570.52	\$13,370.62
26	Residential Flat Rate BFC - Bi Monthly (Mid County and Tierra Verde)	\$81.22	\$10.81	\$92.03
27	General and Multi-Family Service Gallonage Charge per 1,000 Gallons (Mid County and Tierra Verde)	\$7.79	\$1.04	\$8.83
28	Residential Charge per 1,000 gallons (Mid County and Tierra Verde)			
29	16,000 gallons cap	\$6.48	\$0.86	\$7.34
30	General, Residential and Multi-Family Service Flat Rate	\$73.19	\$9.74	\$82.93
31	General, Residential and Multi-Family Service Flat Rate - Bi Monthly (Mid County and Tierra Verde)	\$146.07	\$19.44	\$165.51
32	General Service Flat Rate - Cross Creek	\$66,236.95	\$8,815.72	\$75,052.67
33	Bulk Service - DeAnn Estates	\$2,354.22	\$313.33	\$2,667.55
34	Gallonage Charge per 1,000 Gallons - DeAnn Estates	\$6.48	\$0.86	\$7.34
35	Residential Reuse BFC	\$11.84	\$1.58	\$13.42
36	Gallonage Charge per 1,000 Gallons - Reuse	\$2.23	\$0.30	\$2.53